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90,000& * 324 2,880
()EMHZS20HNS 3,754,073 3,316,740 437,333
= 2,627,851
< 270,293
Al 855,929
301 et d s 3,754,073 3,316,740 437,333
= 2,627,851
= 270,293
Al 855,929
01 MEIBEE 063 3,754,073 3,316,740 437,333
O=SsZM JI=ZHHE= XA
2,555,529& * 1,469Y% 3,754,073
= 2,627,851
< 270,293
Al 855,929




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

ool Zojol =XNSA (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
(2)&HMHE=HIx) XS 439,824 439,603 221

= 307,877
& 39,584
Al 92,363
301 LBt A= 439,824 439,603 221
= 307,877
= 39,584
Al 92,363
01 AR E & A 462 439,824 439,603 221
OXHMEH(II=x) 466,9042 * 942X 439,824
= 307,877
=} 39,584
Al 92,363
(2)H S (HAA S) X2 331,212 333,738 N2,526
= 231,848
& 29,809
Al 69,555
301 et A2 331,212 333,738 N2,526
= 231,848
= 29,809
Al 69,555
01 Al B & A 462 331,212 333,738 AN2,526
OXMLEH (X&) 623,751 = 531H 331,212
=2 231,848
== 29,809
Al 69,555
(Z2)Z QIO 2H| X & 85,873 76,855 9,018
= 68,699
o= 5,152
Al 12,022
308 AMXIESHMSOIA 85,873 76,855 9,018
= 68,699
o= 5,152
Al 12,022
10 21 2SUHUSHEAEAE AN Y| 85,873 76,855 9,018
O Zofel 924l XA 85,873,000 * 14! 85,873
= 68,699
& 5,152
Al 12,022
(Z2)XOHQ LRl KNS (2R XE]) 237,600 190,512 47,088
= 118,800
& 35,640
Al 83,160
307 2izto| A 237,600 190,512 47,088
= 118,800
& 35,640
Al 83,160




2N
DM SNBSS (MESI/HAAHSKIH)

el

X ZH
S =

Akl = X1 ot

i =S

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

(m]
S

05 gl £

Jm
oy

A
°

fOHQI =X L Xtel K&

[

O
o

5,280,000& = 459

= HnH

237,600

237,600
118,800
35,640
83,160

190,512

(2)FoH L el X (et dxtel)

= N H

402,228
201,114

60,334
140,780

230,508

171,720

= Hn W

402,228
201,114

60,334
140,780

230,508

171,720

04 DIAtNZ22XSE*
=

OZojaraers Litel At
22,346,000& * 18H

=z N H

402,228

402,228
201,114

60,334
140,780

230,508

171,720

(2)ZoH LIl X2 (AL Xtel)

= W

67,074
33,537
10,061
23,476

57,624

9,450

= W

67,074
33,537
10,061
23,476

57,624

9,450

04 DIt 22 XS+
=

OZOHQI LB (AlI2HR) L Xtel At
11,179,000& * 6

=z N W

67,074

67,074
33,537
10,061
23,476

57,624

9,450

= H W

—

,040,052
,428,036

183,605
428,411

1,562,791

477,261

307 glztol &

= M W

—

,040,052
,428,036

183,605
428,411

1,562,791

477,261

o
o
=
o
10

pus
=)

e Jm

i

O
021
2

IS N (FI12e)
2,040,052,000& = 14

=z N H

,040,052

,040,052

1,428,036

183,605
428,411

1,562,791

477,261

W
"
O
H
B
U
>
il
[=)

4,037

3,894

143




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,826
< 363
Al 848
307 i+l & 4,037 3,894 143
= 2,826
< 363
Al 848
05 RIZt2E = 4,037 3,894 143
OZSTHMHAESEXRINAMSH
4,037,000& * 14 4,037
= 2,826
< 363
Al 848
(ZLEMEBNMEABISHX & 274,186 198,010 76,176
= 191,930
< 24,677
Al 57,579
307 glz2tol & 274,186 198,010 76,176
= 191,930
< 24,677
Al 57,579
05 RIZHRI & 3 274,186 198,010 76,176
OZOOtE MEx=z 2,158,944% » 127X 274,186
= 191,930
< 24,677
Al 57,579
(2)EBXI 2L 2,653 2,851 A 198
= 2,122
< 159
Al 372
301 et A= 2,653 2,851 A 198
= 2,122
< 159
Al 372
01 MEIBEE 263 2,653 2,851 A 198
OFOHe HEZXI|F W8 189,500& * 14H 2,653
= 2,122
< 159
Al 372
(Z)LLHMHO 22AaeXA 1,920 948 972
2 1,344
< 173
Al 403
301 et d s 1,920 948 972
= 1,344
< 173
Al 403
01 MEI2EZE+06l= 1,920 948 972




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHEMOIESER Aejaty X2
1,920,000 = 1H 1,920
2 1,344
o=t 173
Al 403
(Z)MASEOHQ XEHH L A AH X 3,600 3,600 0
= 1,800
== 540
Al 1,260
301 LBt A= 3,600 3,600 0
= 1,800
= 540
Al 1,260
01 Al E & A 452 3,600 3,600 0
OXMNSSHEMUE 24 X
36,000& = 100¥H 3,600
= 1,800
& 540
Al 1,260
(Z)HZC SAH 2R 5,000 5,000 0
= 3,500
== 450
Al 1,050
301 LBt A= 5,000 5,000 0
= 3,500
= 450
Al 1,050
01 AISIE & A 462 5,000 5,000 0
OWHL NS sSHtHIE XIS
1,000,000& = 5H 5,000
= 3,500
& 450
Al 1,050
(2OHZHOIHZ=AIE DIsEX 147,364 0 147,364
= 73,682
== 22,105
Al 51,577
402 BI2H X 20| M 147,364 0 147,364
= 73,682
= 22,105
Al 51,577
02 SIZEXIE AL E X (0| XM THL) 147,364 0 147,364
OZMAUAHZ=ALEIISBL(BEEOIE)
54,764,000 * 14! 54,764
= 27,382
= 8,215
Al 19,167




AN ALEI =X

X ZH
S =

el

DAY EXNBST(MISX/FHSASKH)

i =S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXMANFAILEISEZ (BEESH
92,600,000& * 14l 92,600
= 46,300
< 13,890
Al 32,410
(2)BSFA 2SHEXNE 1,267 6,108 A4,841
= 1,014
< 76
Al 177
301 et d = 1,267 6,108 A4,841
= 1,014
< 76
Al 177
01 MI2EZE 06z 1,267 6,108 N4,841
OgZHML SS=AESHE X
1,267,000& * 1H 1,267
= 1,014
< 76
Al 177
(B QUAE 2HXA 1,693,775 1,617,479 76,296
= 1,185,642
< 152,440
Al 355,693
307 gl2tol & 1,693,775 1,617,479 76,296
= 1,185,642
< 152,440
Al 355,693
10 AL SXAIEEE2EHEX 1,693,775 1,617,479 76,296
OFMQIAALE 298 1,693,775,000& = 1IHA 1,693,775
= 1,185,642
< 152,440
Al 355,693
(DZHAANFAIE 28 X & 3,426,098 3,518,630 N 92,532
= 2,398,268
< 308,349
Al 719,481
307 21201 A 3,426,098 3,518,630 A 92,532
= 2,398,268
< 308,349
Al 719,481
10 ALSISXAIEEE2GHEX 3,426,098 3,518,630 292,532
OZMAMEANE 29
1,142,032,600& » 304 & 3,426,098
= 2,398,268
< 308,349
Al 719,481
(Z)StAAE2E X2 339,304 326,903 12,401
= 236,838




SH: AS =X D
o DO ZXNSH(MISN/HLHESTER)
ool Zojel 2XNEH (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

102,466

307 21201 A 339,304 326,903 12,401

236,838
102,466

oW

>
>
ton
o
aal
=
X

0z
H0
02
=
H

ES 339,304 326,903 12,401

®
a
rx
0z
W
=
> g
Ho
02
Pl
40

339,304,000& = 1JHA 339,304

236,838
102,466

oW

M
o
0l
0
2
o
e
id]
>
o
[x
m
Mo
02
>
0

197,050 166,825 30,225

39,410
157,640

= M

307 21201 & 197,050 166,825 30,225

39,410
Al 167,640

t

05 22t & =2 197,050 166,825 30,225

O
Of
0l
02
2
re
Pl
w
Pl
o
x
o

7,050,000 * 1JHA 197,050

39,410
157,640

= M

4
on

(Z)ALSI S XAl E S ALAE 70,560 70,560 0
14,112

56,448

= M

301

<
H
0z
oy

70,560 0 70,560

14,112
Al 56,448

e

H

01 M2 E
OA2ISXIAIE Eel=F
100,000& = 44% » 123 52,800

10,560
42,240

2
N
Qb
oy

70,560 0 70,560

o

= M

OMBIZX AL XH2+Yy

40,000 * 37 » 122 17.760
3,552
Al 14,208

2l

(Z)ZHA=EXAE BAMLT =2 283,920 258,240 25,680
56,784
Al 227,136

H

301 et d = 283,920 0 283,920

56,784
Al 227,136

m

01 MI2EZE 06z 283,920 0 283,920
ANE BALT =

139,176& » 1708 « 128 283,920
56,784
227,136

= M

(SIMIERNANELATGALEEX

FY

2,310 2,310 0

_20_




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 693
Al 1,617
307 glz2tol & 2,310 2,310 0
< 693
Al 1,617
11T M SXASEEX 2,310 2,310 0
OFAMQAALUYAR H2HE K&
15,0002 * 154%H 2,310
< 693
Al 1,617
(ZIMSISXAESL LA 2,310 2,310 0
< 693
Al 1,617
307 glz2+ol & 2,310 2,310 0
< 693
Al 1,617
11T M Z2XASEEX 2,310 2,310 0
OFMQAANLLAX 2AH XA
15,0002 * 154%H 2,310
< 693
Al 1,617
(Z)ZOMH =X SAMMEHSSE XA 104,000 104,000 0
< 20,800
Al 83,200
307 glz2tol & 104,000 104,000 0
< 20,800
Al 83,200
10 AL SXAIEEE2EH EX 104,000 104,000 0
OZOMAIMII=FXNSAEEH 2
104,000,000& * 1JH 2 104,000
< 20,800
Al 83,200
(Z)EUM=2UAESANLE2H 272,000 272,000 0
< 54,400
Al 217,600
307 gl2tol & 272,000 272,000 0
< 54,400
Al 217,600
10 AL SXNAIEEE2EH EX 272,000 272,000 0
OFMHA=AESAE 29
136,000,000& * 200 £ 272,000
< 54,400
Al 217,600
(DINZEHLESESAN22SE 1,010,000 929,484 80,516
< 17,500
Al 992,500
307 21201 A 1,010,000 929,484 80,516




SA: ABIS XD
I FOHQ SEXNST (A= /FHLAHSKA)

el Zojel =2XEH (el @2)
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 17,500
Al 992,500
05 RIZtE = 1,010,000 929,484 80,516
OAlZ EfeIsg=sia 29
1,010,000,000& = 1JH A 1,010,000
< 17,500
Al 992,500
(Z)HHAMEOSKIFME 2SS 180,000 174,000 6,000
= 36,000
Al 144,000
307 glz2+ol & 180,000 174,000 6,000
< 36,000
Al 144,000
10 ALSISXAIEEE 2 HEX 180,000 174,000 6,000
OHUMEOSXNAMNYH 29
180,000,000& * 1JH £ 180,000
< 36,000
Al 144,000
(Z)+stSddEHS 185,000 180,000 5,000
< 31,450
Al 153,550
307 glz2tol & 185,000 180,000 5,000
< 31,450
Al 153,550
10 AL SXAIEEE2EH EX 185,000 180,000 5,000
O=x=0s9ddHe 29 185,000,000&  1JH A 185,000
= 31,450
Al 153,550
(Z)sotossaddeAasia 18,000 18,000 0
< 5,400
Al 12,600
307 glz2+ol & 18,000 18,000 0
< 5,400
Al 12,600
11T MISAASEEX 18,000 18,000 0
Os0tg S=482 85 XNE
6,000,000& » 3H 18,000
< 5,400
Al 12,600
(S)NHZOHAXNJAMH S Y 130,000 110,000 20,000
< 26,000
Al 104,000
307 glz2+ol & 130,000 110,000 20,000
< 26,000
Al 104,000
10 ALSISEXAIEEE2GHEX 130,000 110,000 20,000

- 22 -




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNZEZOHAXHEH 2
130,000,000 * 1JH 2 130,000
< 26,000
Al 104,000
(D)S>SFDMASTHA LT EH XA 9,253 9,253 0
< 2,776
Al 6,477
301 gt L= 9,253 9,253 0
< 2,776
Al 6,477
01 Ml2ZE 06z 9,253 9,253 0
OS+8D HASHOMO 2AFsty X
462,6503 * 20Y 9,253
< 2,776
Al 6,477
(E)BHAHATHEA L2 929,356 657,042 272,314
< 142,121
Al 787,235
307 21201 A 929,356 657,042 272,314
< 142,121
Al 787,235
10 AL SXNAIEEE2EHEX 929,356 657,042 272,314
OZMAXMNATNEANE 2
309,785,100& * 30H A 929,356
< 142,121
Al 787,235
(Z)ZHUBEJAL=EX A 122,000 122,000 0
< 26,000
Al 96,000
307 21201 A 122,000 122,000 0
< 26,000
Al 96,000
11T ALSI S RAEE = 122,000 122,000 0
OXMEOMR HAANLME 2
122,000,000& * 1JH 2 122,000
< 26,000
Al 96,000
(E)HMABESE =t N 114,023 114,023 0
= 34,207
Al 79,816
307 21201 A 114,023 114,023 0
= 34,207
Al 79,816
05 BIZERI & 3 114,023 114,023 0
oxofelasEx = XA
4,223,074 * 2794 114,023
< 34,207

_23_




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

el Zojel =2XEH (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 79,816
()T MEALX A 13,520 13,725 A 205
< 4,056
Al 9,464
307 gl2tol & 13,520 13,725 A 205
< 4,056
Al 9,464
11 ALS S RAEE = 13,520 13,725 A 205
OZNAMSAL AHHIA XY
130,000& * 104 13,520
S 4,056
Al 9,464
(Z)EMAN=AIE 2 780,035 780,035 0
< 156,007
Al 624,028
307 gl2tol & 780,035 780,035 0
< 156,007
Al 624,028
10 M3 SXNANEHIS2IHEX 780,035 780,035 0
OXFOMANFALE 22 (IHe)
260,011,660& * 30H A 780,035
= 156,007
Al 624,028
(Z)EOMANFAIE0EXNHDE 3,500 3,500 0
< 1,050
Al 2,450
307 21201 A 3,500 3,500 0
< 1,050
Al 2,450
11T AL SXAEE = 3,500 3,500 0
OO AHFAIAE OI8SX A WS
500,000& * 7004 3,500
< 1,050
Al 2,450
(Z)EMASIAHFAEE2Y 192,635 178,227 14,408
< 38,527
Al 154,108
307 21201 A 192,635 178,227 14,408
< 38,527
Al 154,108
10 M SXNANEHE2IHEX 192,635 178,227 14,408
OZMAHIN=AE 2Y
192,635,000& * 1JH 2 192,635
< 38,527
Al 154,108
(S )ZO0H QIS X XIR AN 309,345 234,345 75,000
< 61,869

_24_




SA: ABIS XD
I FOHQ SEXNST (A= /FHLAHSKA)
el oo SXNEE (==

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 247,476

202 04l 4,345 4,345 0

869
3,476

= M

&=

4,345 4,345 0

o
=~
O N
o =
2
° X

J
Pl
r
MO
0x

M2 X&
4,345,000& + 1& 4,345

869
3,476

= M

307 21201 & 305,000 230,000 75,000

61,000
244,000

= M

10 AR SAAEHE2SHIEX 305,000 230,000 75,000
OQUSMIAGHE 22 E 0ISAEAE
130,000,000& = 1JH A 130,000

26,000
104,000

= M

,000,000& = 100 65,000

13,000
Al 52,000

H

o 02

,000,000& » 10H £ 45,000

9,000
Al 36,000

H

OXNHMEHAHLEXNEXNALE 2

65,000,000 * 10H 2 65,000
13,000
52,000

= H

m
0%
>
0]
09
>
i
10
IS
|
10
19
O
o

10,010 10,010 0

3,003
Al 7,007

2l

307 21201 & 10,010 10,010 0

3,003
7,007

= M

A S XA E X 10,010 10,010 0
OBAUQLAANLLAT JAF X2
65,0008 » 154 10,010

3,003
7,007

rics

= N

(Z)stulyg 22| X2 A 13,740 13,740 0
2,778
Al 10,962

in

307 21201 & 13,740 13,740 0

2,778
10,962

=

10 AR SAAEHE2SHIEX 13,440 13,440 0

_25_




2N
X ZH -
L= B

el

Ab8l = X Bt
ZOHQ ZXNBE(AMSZX/HANSNA)
ool SXNSH

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OB MMENE SAK =2
140,000& = 8Y = 12E 13,440
< 2,688
Al 10,752
11T MIZXAISEEX 300 300 0
OBMMBAL YAT ALHTY L Ayl
15,0008 * 20 300
= 90
Al 210
FoesegExNa Jsed 140,000 140,000 0
402 2I2H X201 M 140,000 140,000 0
01 2I2E 2 A B (KR 140,000 0 140,000
OFMUEE=EX2 AEHA DA (E
T8 HH) 140,000,000& * 14 140,000
ZOHUEH JIsES 60,000 0 60,000
401 AIEHIZL 2CHEI 60,000 0 60,000
01 A& Hl 60,000 0 60,000
OFOMAEH JIsE22  30,000,000& = 200 A 60,000
(SN HHTHAANHAL LSRN AEH2LXR 45,000 0 45,000
_OLJ
< 9,000
Al 36,000
307 21201 A 45,000 0 45,000
< 9,000
Al 36,000
10 ALSISXAIEEER2IHEX 45,000 0 45,000
OLIgHZMHAAANHLOSXNILMHZE X
el 45,000,000 * 1JHA 45,000
< 9,000
Al 36,000
(A A MBI HE AL AZ2H 45,000 0 45,000
< 9,000
Al 36,000
307 21201 A 45,000 0 45,000
< 9,000
Al 36,000
10 ALSISXAIEEER2IHEX 45,000 0 45,000
O NMZEHATHEAEA 29
45,000,000& * 1J0HA 45,000
< 9,000
Al 36,000
(&)2018Z OH O = Of Al & &AL Eff & 2= & AL 19,156 0 19,156
< 5,747
Al 13,409
101 14l 19,156 0 19,156

_26_




SH: AS =X D
o DO ZXNSH(MISN/HLHESTER)
ool Zojel 2XNEH (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

5,747
Al 13,409

04 DIt 22 XS+ 19,156 0 19, 156
OHMHABEAA L AEHE = A
19,156,000& * 14 19,156

5,747
Al 13,409

H

(SN ZZOHCINNEXNALMEHR Y 141,000 0 141,000
42,300
Al 98,700

H

307 21201 & 141,000 0 141,000

42,300
Al 98,700

2l

ES 141,000 0 141,000

9‘:]

000,000& * 1JHA 141,000
42,300
98,700

= M

()l WA 75,121 0 75,121
52,585
6,761
15,775

= N W

307 21201 & 75,121 0 75,121
52,585
6,761
16,775

= N H

10 AR SAAEHE2SHIEXR 75,121 0 75,121
OdHMeoisddE X3

75,121,000& * 1J0HA 75,121

52,585

6,761

15,775

= M W

n
=S
0x
0
=
ro
=
Ho
o
z
m
oy
>
>
4
on
Pl
0

5,040 0 5,040

1,008
4,032

= M

307 21201 & 5,040 0 5,040

1,008
Al 4,032

t

11 At S XA
[¢]

ES 5,040 0 5,040
OWdgEMeA=

dUE SAL =2

140,000& » 3% = 12& 5,040
1,008
4,032

(=S

= M

2JEE 22A(MISX/EE) 1,960,800 1,720,020 240,780

171,840
Al 1,788,960

H

g2l 1,960,800 1,720,020 240,780
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SN ALSI S X
= JNEE 22 (MI=EX/BEE)
ool PEBUNA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 171,840
Al 1,788,960
E8HH 2 AlE2e 423,200 477,620 A 54,420
201 ¢er24l 48,720 48,240 480
01 At 2t 2l 23,000 23,000 0
OEsHH MRy X2 X
250,000 * 5IHEX » 128 15,000
OEEANE(EEE) =2 FHI
6,000,000& = 14 6,000
OEEANL(EEE) ot &1
2,000,000& = 14 2,000
02 =224l 720 240 480
OZEH 2323 AMHEE 60,000 * 123 720
03 &AL2 Gl 25,000 25,000 0
O8&sY =8 A 10,000,000& * 13l 10,000
O6.258 At 15,000,000& * 13 15,000
206 M= Hl 640 640 0
01 MHZ 4l 640 640 0
OSSANE =HEZFHE EH £ 4EF 7 640
—%Z 30,000& = 4& = 33 360
-3 20,000& = 7& * 23l 280
301 et A3 80,840 79,240 1,600
09 #HALAHIZ A S 80,840 79,240 1,600
O8EY A ZHI(AWH, JIEE)
20,000,000& = 14l 20,000
06.25 #AF BHI(MW, J1€3)
10,000,000& * 14 10,000
OESdA 2 A& ol 90,000& » 31H 2,790
O3=E2E9 ¢ IEIXN ZFH(BE4EH)
10,000,000& * 14 10,000
OEEUaX MEX =dl(2E4EH)
10,000,000& * 14 10,000
OEETAX =2 & AEA HFNS(EY
BEERIELE) 3,000,000& = 13l 3,000
Ob.2BBHREA F2 L AZoAl HHW=F(6
BEIRSELRS]) 8,000,000& = 13l 8,000
06.258% & IJtE2E=UHANL X =
2,000,000& =« 14 2,000
OSYSSIH 82 =Y #A
3,000,000& =« 14 3,000
O0I=5&01 2t A 90,000& * 454 4,050
OZFATezels ddus XN
8,000,000& = 13l 8,000
307 21201 A 248,000 230,000 18,000
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SN ARSI =X B
= JNEE 22 (MI=EX/BEE)
ool HEBEN EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 BIAHMNHE2IHIEL 129,800 124,800 5,000
OE &4 224 N (228 FH)
16,350,000 » 4&HHl » 14 65,400
O&=3 I=3tXs 29Ul XN (BExX8 F
o) 1,575,000& * 4& 7| 6,300
O6.258 82 2X3 =AXE 224 X2 (2
T8 HW) 4,100,000& = 4=2D| 16,400
OEEHEERSINE EFAXNE 2LH X (2
T8 HH) 2,625,000& * 4&7I 10,500
ONGHAERS IF=AXS 298 NI (BEXE
Ho) 2,625,0008 * 4&7| 10,500
Oletl=s S+ R3Xs FS=2F 24|
ANA(Bxg FH) 775,000 * 4=2D| 3,100
OZ=Al Mez2ols 29 N (Ex8 FH)
4,400,000 = 4=2D| 17,600
05 RIZHRIE 3 87,000 82,000 5,000
ostza=EIIEsd 24
87,000,000& * 1JH A 87,000
11T M 2XAIS EX 31,200 23,200 8,000
ONMAS B2 2 NE
100,000 * 42H 4,200
OS2ZEF2H L SAES(HID)
5,000,000& = 13l 5,000
OIF=XNsE 2 MISMES(DLEHELS
AF=AXE)(EXE 80%) 4,000,0008 * 13 4,000
Oz= 2884 g2 ?Ie MEdA
2,000,000& = 13l 2,000
O3 (&4gz, Z2=2) JIgd8M X 8,000
— &Y E YA 4,000,000& = 13l 4,000
—Z=5F A 4,000,000& = 13l 4,000
Ootstdes=zd==3 =2 X
2,000,000& * 14 2,000
O==dE2 & A 3,000,000& = 14 3,000
OMall=52 & #HA(BZE 80%)
3,000,000& = 14 3,000
401 AIEHI L 20HEI 45,000 109,500 A 64,500
01 A& HI 45,000 109,500 A 64,500
Ootistz=c g3 2el 20,000
— X3 A 20,000,000& = 14| 20,000
O&AM2 W HAY =S WX
3,000,000& = 14| 3,000
OO0tst&a SR d&E22I &
2,000,000& = 14 2,000
OdAl2 delHiole =2l 20,000,000& * 14 20,000
(D)EdRsFM= 1,197,600 902,400 295,200
S 170,040

_29_




A AMIEX
H: ZIEE 2 (AMaEXN/BE)
ool PEBUNA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,027,560
301 et A= 1,197,600 902,400 295,200
&< 170,040
Al 1,027,560
01 Al B & A 462 1,197,600 902,400 295,200
OFFKRZ2AN ==
80,000 * 1,210¥ * 12€ 1,161,600
& 170,040
Al 991,560
OFIKRZ2A AIXRAZ22
300,000& = 10¥ * 12& 36,000
BEY0x 334,000 334,000 0
301 LBt A= 334,000 334,000 0
01 Al E & A 452 334,000 334,000 0
o402 XN 334,000
—E2E5EHAML Ho=E
50,000 = 540H = 12&€ 324,000
—BEHAX AMLRAZ2 200,000& = 50¥ 10,000
(C)s2E2E&dAIMEL X 6,000 6,000 0
o= 1,800
Al 4,200
307 212t0| & 6,000 6,000 0
o= 1,800
Al 4,200
11 A EXAIEEX 6,000 6,000 0
OZ=29& UM A 2=
6,000,000& = 1A 6,000
= 1,800
Al 4,200
HAESHAY (At =X ) (J1EH/DIE) 185,073 199,955 N 14,882
olad 2 A Y| 35,265 33,053 2,212
ol A | 35,265 33,053 2,212
101 221 d| 35,265 33,053 2,212
03 RIAHLZ2ZZ2XE S 35,265 33,053 2,212
OLANESA(AIEA) 2! 35,265
- Jl=22 1,464,300 » 1¥  12€ 17,572
— A= 1,464,300& * 200% * 1H 2,929
— @A S|
1,464,300 * 75% » 1¥ * 23| 2,197
LR
10,0063 = 15AI2F = 150% ~ 1€ x 12& 2,702
~ 52224y
80,0483 * 150% * 1€ = 50 6,004
— RIS 80,048  1&H » {7g 1,361
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©OAEI = X

ol

HE 22U (AFRI S X)) (J1EH DI E)

o
g Hl

e
02 0

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
— HHZAH| 100,000& = 1H = 128 1,200
— NEEXH| 100,000& * 1¥ = 128 1,200
— = 100,000 * 1% x 1Y 100
|24l 149,808 166,902 A 17,094
Jl2 &4l 149,808 166,902 A 17,094
201 LBt 32,028 33,102 N 1,074
01 AP 22| H| 32,028 33,102 N 1,074
o=sAMaEX 2 15,000& * 278+ A « 128 4,860
OEZ204AH| 7,000 * 6& x 27H x 128 13,608
Ot 2 100,000 = 12& 1,200
OALARE T AF2LH| 50,0008 = 12&€ 600
OAFRR =464 10,140
— Z2A &2 (A") 500,000& = 1.50H 750
— T2l %2l 100,000 = 50 = 50/100 250
— Z2AD] EUY 200,0009 * 53| = 204 2,000
— T2 EH(E84) 200,0008 = 53 = 5CH 5,000
— T2 EH(Ze2t) 200,0008 * 53 = 1CH 1,000
—PC £=¢| 100,000 = 2700 = 20/100 540
— J|EF =2l H]| 50,000& = 12€ 600
OJIE AR 22l | 5,0008 » 27 = 12&€ 1,620
202 o4 | 111,780 128,340 AN 16,560
01 2Ll 111,780 128,340 N 16,560
OAMSEX Y R2F=804H] 111,780
— ZHL O 1 20,000& = 27 x 122 = 12& 77,760
— 22 (4 4 90,000& = 27 * 14Y 34,020
203 € R =& 4,800 4,260 540
04 EASHEIRFAH| 4,800 4,260 540
OFMSIEREFEH| 400,000 = 12& 4,800
204 D2 Y| 1,200 1,200 0
01 &S AR AH| 1,200 1,200 0
OXMIALLHAY| (AL 2 X UE)
100,000€ * 1H = 128 1,200
HEEE(MEASTI)(AMISR /I ZMSSE) 1,633,369 1,508,910 124,459
WEAHA XK= 1,633,369 1,508,910 124,459
LHEAHH K= 1,633,369 1,508,910 124,459
701 JIEISI HSEHE=2 1,633,369 1,508,910 124,459
01 JIEIS HE =2 1,633,369 1,508,910 124,459
O9 220 &2H| (X 8tH| &)
1,614,406,000& = 14! 1,614,406
OozZ2H22IAF =& 18,963




2N
X ZH -
L= B

el

Akl = X1 ot
HRES (A=) (M= ZHEEE)
WEAHAH X =

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

|
02
A
o
AS|
=

2,023,200 * 29 = 75% » 23

— JAZ Al 100,000& = 2 = 12&
— WS 2 X4 100,000& *» 29 = 128
—&03 2,023,2002 * 100% * 2% * 23|

6,070
2,400
2,400
8,093
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